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weneedadditionalcontributions
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To get thepreferredregion ofmiXing angleslet usassume

A No systematicrrors

A IndependentGaussianistributions
A Additional contributions to theeffective couplings
A are dominated by those of thBlIJgSIiN0Sand theStOPS

A are takenfreely, butconsistentlywith our parameter space
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Then we obtain theX AndW freferred regions

A using thechi-squaredistribution with 5 or 6 DOF

A taking the parameters ofiiggsinosand stops thatmiNiMIiZEthe chisquared.

WW/ggF ZZlggF  bb/VH-VBF z A/H-VBF r X r Y

ATLAS 0.99+£0.30 1.43+0.38 1.09+0.34 1.66+0.37 1.72+0.79
CMS 0.68+0.20 0.92+0.28 1.15+0.62 1.10+0.41 0.65+0.34 1.80+0.89

mt - 1=(m* - D) cog +(mf""VEF - Dsin/
¥ - 1=- (7% - sinj +(M"Ve - 1) cog
cog =0.98 ATLAS),0.97(CMS)
hep-ex/1307.142ATLASCONF2014009, CMSPASHIG-13005
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